EARAZROREIERT — 2 N—XBISY —F 20135F683H (A) 4mAH2H

mﬂﬁ%Zﬁ HE ‘ [x1z] # ‘ [eErsm]  — | 4 (&) 10000 &
[A&4£] 1 7% :2,500,000  ~ 23 :875,000 33 :500,000 ~ 43#&:375,000 @ 5 7 :250,000 M
mEBR Mk HE BF (&) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
FAUAT7F (X L fﬁtﬁ 1:(0_2).3 2-1 37.5| — 1 433 %égﬁg (k3)
LF= W KFYa— B:ibyTFaAX ) sy -n
$ 5o 5B : = — KiEEE (KH)
~—IEAS Y 4 2 e 1.(073).7 &3 38.6 2 (537) asr;,%
/KT vy 7 BHFESX-—Fv TR BER
ey #o2 | sk 1:03.9 1-1 9.2 — | 5 | 40 |FEEHEX (KH)
79TV —XZ— 54.0 (1 1/4) (=) (B) Bt77—~4
R:YZZXE—IZ2%— B:FrO0¥F—Z7-Y A0S
. LTHfEA : - — WMAFNIR (KH)
RKY—LF—7 # o2 i 1(.30/:2.)1 4-4 38.6 8 (430) il
L:RKU—LZXTLy R BTN KFE B
N . N t 2 | AEE 1:07.5 6-6 40.2| — 6 423 | fERARE— (KH)
5/5|5 Jd—JILRU7> * 54.0¥ (&4 4) (—) Ja—nN—EZ (%)
L:XxXp7 R B XF—TIEFX FLEFBERS
. N P R FI 2 1. — . — AR (KFH)
6l1l1|TaTc7F+ i 2 i (151{1*;) 5-5 45.6 4 (453) el
L:F 1 —TAHA B:wrH— FRRE  FEAR
® 1 —F—@EBlIEf
13—7-—
23=5"=
Ja=7= 4,3,6,2,1,5
AT =zF= (3,4),6,2,1,5
[ /N
B 3 1704 714K 3-6 150 B E 3-6 280 JEE 3-4-6 1,090
B B 3 110 3-4 350M BB 3-6 320M 3B 3-6-4 2,190
6 120 4-6 460M

ABICOVWTRDTEEERROODE. TR LIV,




